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The numbers in the equation are ‘split’ into tens and ones and added separately
and then they are put back together.

56 + 33
NN

50 6 30 3
50 + 30 = 80
6+3=9
80 + 9 = 89

Complete the following addition problems using the split strategy. Remember
to show your working out.

Q) 37 + 42 = d) 45 + 63 =

b) 72 + 36 = e) 62 + 46 =

c) 66 + 45 = f) 74 + 35 =
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Find the answer to each calculation using the split strategy method.

a) 37 + 21 = d) 23 + 33 =

b) 32 + 36 = e) 61 + 11 =

c) 15 + 43 = f) 42 + 44 =
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Find the answer to each calculation using the split strategy method.

a) 77 + 21 = d) 43 + 59 =
b) 27 + 66 = e) 67 + 36 =
c) 53 + 65 = f) 71 + 44 =

,
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Split

Find the answer to each calculation using the split strategy method.

a) 79 + 42 = d) 83 + 53 =
b) 132 + 126 = e) 227 + 131 =
c) 146 + 122 = f) 311 + 144 =
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Split Strategy Addition

The numbers are ‘split’ into tens and ones and added separately, then they
are added back together.
Show how you got your answer using the split strategy.

a) 79 + 32 = b) 87 + 63 =
70 9 3{)\‘2
+ = + =
+ - + S
+ =  '+ =
79 +32=____ 87 +63=__
c) 114+ 113 = d) 238 + 127 =
+ = + =
- = + =
+ = + =
+ = + =
114 + 113 = ___ 238 + 127 =___
e) 346 + 222 = f) 397 + 144 =
o+ - + -
+ = + =
+ = + =
+ = 400 + 130 + 11 = ____
346 + 222 = F_ =
30 11 =
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